XYZ2,,=100.93, 100.0 , 64.68 1004
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a=ay[ (x-x,) /%

20 .-
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6 OstwaldFarben (o) | H

Parameter:

Y & Name
Lichtart P40
Y,=100 Y,=10

N . , t
von maximalem (m)C,g im 100 |
Buntwertdiagram (A,, B;) 63,0
Lichtart P40, Y, —100 Yy=10 AN
Name Bereich X, z, RS

R, 573775733 4709 657 05773'0.3708 600 493

V) 498775 91.64 95.82 10.18 0.4636 0.4848 576 468
G, 498_573 2653 58.83 10.14 0.2925 0.6033 540 540¢
C, 380573 37.63 63.01 64.65 0.2285 0.3807 493 600

B, 380_498 10.49 14.28 6104 0.2055 0.1506 468 576

M, 573 498 626 5127 6108 04236 0.2629 5400540 -100+

W,380_775 10098000 64.68 0.3799 0.3764 100%

N, 380_7751009 100 646 03799 0.3764 10%
7, 380_775 1816 180 1164 03799 0.3764 18%
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